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PART A: Vocabulary

| Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes
| each sentence. Then mark the correct choice on your answer sheet,

What was intended as a peaceful demonstration rapidly -----—-—- into violence.

1) agitated 2) degenerated 3) preceded 1 4) discriminated
The Democratic Party 70 pereent of the vote,

1) garnered 2) esteemed 3) obligated 4) assembled
Some animals can —-—— very high temperatures.

1) detach 2) submit 3) obstruct 4) withstand

Researchers have discovered that ap to one half of all children born of alcoholics are
genetically ————eemee- to alcoholism.

1) discerned 2) apprehended 3) predisposed 4) impressed
Communication via the Internet gives an important ----——-— to international trade.
1) dimension 2) exposure 3) expenditure 4) distribution
Lack of childcare facilities can be a major for women wishing to work.

1) dispute 2) routine 3) obstacle 4) contraction
It is a common ---------- that women are worse drivers than men.

1) essence 2) impetus 3) fallacy 4) amusement
The -—==-=----- for using this teaching method is to encourage student confidence.

I} advent 2) rationale 3y authenticity 4) constitution
The degree of punishment should be to the seriousness of the crime.

1} inclined 2) receptive 3) prominent 4) proportional
Low inflation is the key to ---——-—-- economic growth.

1) sustained 2) congruous 3) extravagant 4) well-disposed

PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or
(4) best fits each space. Then mark the correct choice on your answer sheet.

11-
12-

13-
14-
15-

Commonwealth of Nations is an international erganization composed of independent states,
all of which were part of the British Empire. It was constituted by the Statute of Westminster,
(11) -=mmeemeee the British Dominions were recognized as ‘autonomous communities’, (12) ==-----
the British Crown. Since 1947, when India chose (13) -------—- within the Commonwealth, it
has consisted.of an increasing number of republics, so that the role of the British monarch, who
is the head of only seventeen (14) --——--- a total of fifty-three member states, is confined
(15) ~——mmmmms head of the Commonwealth. Given that its member states have little in common
apart from a historical tie to the UK, it has rarely been able to influence world affairs, except
perhaps forits leadership on the international imposition of sanctions upon South Africa.

1) so 2) which 3) so that 4) in which

1) binding together 2) bound together by

3) together having bound ' 4) having bound together

1) to remain 2) remaining 3) for remaining 4) to be remained
1) by 2) out of 3) within 4) outside

1) for 2)to who is 3) to that of 4) that she is
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[ Part C. | Reaing mehensiun

Directions: Read the following three passages and choose the best choice (1), (2), (3) or (4).

| Then mark it on your answer sheet,

16-

17-

18-

19-

20-

PASSAGE 1:

Arterial blood pressure (BP) is defined as the force exerted by flowing blood on arterial walls.
This force is pulsatile due to intermittent contractions of the heart, creating a forward- moving
waveform. The determinant factors of BP are cardiac output (CO), peripheral vascular resistance,
and blood volume. Stroke volume is the volume of blood ejected by the heart during systole.
Stroke volume is influenced by cardiac contractility, preload, and afterload. Systolic BP is the
maximum arterial BP measurement during systole. whereas diastolic BP is the minimum
measurement taken during diastole. MAP (mean arterial pressure) is the time-weighted average
of pressure exerted during the cardiac cycle and is the major determinant of organ perfusion.
Because the duration of diastole is normally longer than that of systole, MAP cannot be directly
averaged. The difference between systolic and diastolic pressures is the pulse pressure, which
creates the palpable pulse. However, manual palpation of the pulse does not provide reliable
information about MAP. This is an important point because it is possible to have a significant
derangement in MAP, and therefore organ perfusion, while maintaining a subjectively adequate
pulse pressure. :

The vessels expand and contract rhythmically because of ——-— .

1) high vascular resistance

2) forward movement of the blood

3) periodic contractions of the heart

4) continuous contraction of the heart ventricles

The adequate passage of fluid through organs and tissues can be evaluated by measuring

1} pulse pressure 2} cardiac output

3) vascular resistance 4) mean arterial pressure

Which statement is incorrect?

1) Cardiac relaxation lasts longer than cardiac contraction.

2) Pulse pressure is the difference between systolic and diastolic pressure,

3} Systolic arterial pressure is the major determinant of organ perfusion pressure.

4) The amount of blood pumped from the right or left ventricle per minute is a determinant of
BP.

The volume of blood ejected by the heart during the contraction phase of heart cycle is

1) cardiac output 2) stroke volume
3) pulse pressure : 4) peripheral vascular resistance
MAP is — .

I’y higher than systolic pressure

2) lower than diastolic pressure

3) the average of systolic and diastolic pressure

4) closer 1o diastolic pressure than to systolic pressure
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PASSAGE 2:

The most common’ symptom associated with esophageal dysfunction is pyrosis. This burning
sensation is caused by the reflux of gastric acid into the esophagus and the resulting injury to the
esophageal mucosa. This condition may be produced by motor abnormalities that result in
abnormally low pressures in the lower esophageal sphincter or by the failure of secondary
peristaltic contractions to effectively empty the esophagus. Reflux may also occur if intragastric
pressure increases, as may occur after a large meal, during heavy lifting, or during pregnancy. In
some cases, a region of proximal stomach may move through the diaphragm into the thorax,
producing severe gastric reflux. This condition is termed hiatal hernia and is often treated by
surgery. Reflux itself is not abnormal, occurring several times a day. Under normal conditions,
the refluxed acid is cleared from the esophagus. and no symptoms develop.

What is the most common sign of malfunction of the esophagns?

1) Burning sensation in the lower esophagus 2) Injury to the esophageal mucosa
3) Increase of pressure in the stomach 4) Gastric reflux

Hiatal hernia is ===,

1) severe gastric reflux

2) protrusion of a part of stomach into the chest

3) failure of secondary peristaltic contractions

4) movement of the pylorus through the diaphragm into the thorax

Which statement is correct?

1) Reflux occurs once a day.

2) The backward flow of gastric acid is normal.

3) The reflux always causes abnormal symptoms.

4) The reflux is caused by peristaltie contractions of the esophagus.

Which of the following is a predisposing factor of gastric reflux?

1) Gestation 2) Fasting

3) Reduction of pressure in the stomach 4) Strong lower esophageal sphincter
Secondary peristaltic contractions
1) empty the esophagus

2) increase gastric pressure

3) occur after difficult work

4) cause insufficiency of lower esophageal sphincter
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PASSAGE 3:

Perhaps the most frequently administered intravenous fluid is isotonic saline. Isotonic saline is
used as a replacement for extracellular salt and water that may be depleted by dehydration, or
when a patient is not eating and drinking normally. Thus, unless there is reason to suspect that a
patient is actually volume overloaded, which may occur with congestive heart failure or liver or
kidney failure, ample isotonic saline is given as a means of maintaining normal extracellular
fluid volume. If the kidneys are operating normally, it is difficult to expand the extracellular fluid
volume significantly because the kidney increases its excretion of salt and water to match the
increased input. Most of this adaptation occurs quickly and is due to decreased salt and water
reabsorption in the proximal tubule. One explanation for the decreased proximal tubule
reabsorption is the effect of the saline infusion on the uptake of salt and water into the
peritubular capillaries. Because the isotonic saline is a protein-free fluid, the plasma colloid
osmotic pressure drops when it is added to the blood. This favors an increased GFR, but
autoregulatory adjustments in afferent and efferent arteriolar resistances generally act to maintain
a constant GFR (glomerular filtration rate), and no change is observable. However, the colloid
osmotic pressure of the blood in the peritubular capillaries is also reduced by the saline
expansion, giving a lesser net force for fluid uptake. For a short period after the saline infusion,
the rate of fluid reabsorption by the proximal tubule will exceed ‘uptake into the capillaries,
leading to an increase in interstitial fluid volume and, because of distension, an increase in
interstitial fluid hydrostatic pressure. The increase in interstitial fluid pressure counteracts the fall
in colloid osmotic pressure, so that the net Starling force again rises until the uptake of fluid into
the capillaries matches its reabsorption from the proximal tubule, and the steady state is restored
but with a new balance of peritubular factors. However, this rise in interstitial fluid pressure may
increase paracellular backleak and, thus, reduce volume reabsorption.

26- Under normal circumstances, the injection of a large volume of saline causes ——-———--,

1} renal failure 2) dehydration
3) no problem 4) congestive heart failure
27-  The colloid osmotic pressure of blood increases when there oceurs —-—-——,
1) injection of albumin 2) infusion of isotonic saline
3) injection of hypertonic saline 4) administration of free-protein fluid

28- The constant condition is obtained when absorption of fluid info the capillaries —-—---—-
reabsorption of fluid from the proximal tubule.

1) exceeds 2) is similar to 3) is less than 4) is greater than

29- After the injection of saline, what is the main reason of the increase in interstitial
hydrostatie pressure?

1) Distention of capillaries 2) Uptake of fluid into the capillaries

3) Reduction of colloid esmotic pressure 4) Reduction of fluid volume between cells
30- “Peritubular capillaries” in the sentence “The colloid osmotic pressure of the blood in the
peritubular capillaries is reduced” means —--——-,

1) the capillaries inside the tubules 2) the capillaries outside the tubules

3) the capillaries within'the tubules 4) the capillaries around the tubules
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